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Date Interpretation Bar Graph Questions for SSC Exams. 

DI Bar Chart Quiz 22 

Directions: Study the graph carefully and answer the following questions. 

The Bar diagram shows the trends of foreign direct investment (FDI) into India from all over 
the World (in Rs. crores). 

 

1. The sum of FDI of 1992 and 1993 is 

A. 15.58 cr   B. 15.85 cr   C. 15.22 cr   D. 15.65 cr  
 

2. The year which exhibited the 2nd highest growth percentage in FDI in India over the period 
shown is 

A. 1993   B. 1994   C. 1997   D. 1996  
 

3. The ratio of investment in 1997 to the average investment is 

A. 2 : 1    B. 1 : 2    C. 1 : 1    D. 3 : 1  
 

4. The absolute difference in FDI to India between 1996 and 1997 

A. 7.29    B. 7.13    C. 7.16    D. 7.22  
  
 

 

Correct Answers: 

1 2 3 4 

B D A B 



 

 

Explanations: 

1.   The sum of FDI of 1992 and 1993 = 5.7 + 10.15 = 15.85 cr 

 Hence, option B is correct. 
 
 

2.   If we just observe the given chart we can find that the two years in which the growth is highest in 
comparison to the previous year are 1994 and 1996. 
 
In 1994, the growth is nearly 100% as FDI is moving from 10.15 to 20.16 while in 2016 It is clearly more than 
100% as FDI moving from 10.22 to 24.28. 
 
Therefore, 2016 exhibited the highest growth % in FDI. 
 
Hence, option D is correct. 
 
 

3.  Total investment = 5.7 + 10.15 + 20.16 + 10.22 + 24.23 + 31.36 = 101.82 

Average investment =  
101.82 

 = 16.97 
6 

 

Investment in 1997 = 31.36 

Reqd. ratio = 31.36 : 16.97 ≈ 2 : 1 

Hence, option A is correct. 

 

 

4.  The absolute difference in FDI to India between 1996 and 1997 = 31.36 – 24.23 = 7.13 

Hence, option B is correct.  
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